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𝐴𝑘𝑢𝑟𝑎𝑠𝑖 =  
𝑇𝑃+𝑇𝑁

𝑇𝑃+𝑇𝑁+𝐹𝑃+𝐹𝑁

𝑃𝑟𝑒𝑠𝑖𝑠𝑖 =  
𝑇𝑃

𝑇𝑃+𝐹𝑃

𝑅𝑒𝑐𝑎𝑙𝑙 =  
𝑇𝑃

𝑇𝑃+𝐹𝑁

𝐹1 − 𝑠𝑐𝑜𝑟𝑒 = 2 
𝑃𝑟𝑒𝑠𝑖𝑠𝑖 ×𝑅𝑒𝑐𝑎𝑙𝑙

𝑃𝑟𝑒𝑠𝑖𝑠𝑖+𝑅𝑒𝑐𝑎𝑙𝑙
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𝑎𝑘𝑢𝑟𝑎𝑠𝑖 =
𝑃𝑟𝑒𝑑𝑖𝑘𝑠𝑖 𝐵𝑒𝑛𝑎𝑟

𝑇𝑜𝑡𝑎𝑙 𝑃𝑟𝑒𝑑𝑖𝑘𝑠𝑖
=

54 + 67

54 + 14 + 15 + 67
=

121

150
= 80.67%



 

 

 

• 

𝑃𝑟𝑒𝑠𝑖𝑠𝑖 (𝑇𝐿) =
𝑇𝑟𝑢𝑒 𝑇𝐿

𝑇𝑟𝑢𝑒 𝑇𝐿 + 𝐹𝑎𝑙𝑠𝑒 𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒 (𝑇𝐿)
=

54

54 + 14
=

54

68
= 79.41%

• 

𝑃𝑟𝑒𝑠𝑖𝑠𝑖 (𝐿) =
𝑇𝑟𝑢𝑒 𝐿

𝑇𝑟𝑢𝑒 𝐿 + 𝐹𝑎𝑙𝑠𝑒 𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒 (𝐿)
=

67

67 + 15
=

67

82
= 81.71%

• 

𝑅𝑒𝑐𝑎𝑙𝑙 (𝑇𝐿) =
𝑇𝑟𝑢𝑒 𝑇𝐿

𝑇𝑟𝑢𝑒 𝑇𝐿 + 𝐹𝑎𝑙𝑠𝑒 𝑁𝑒𝑔𝑎𝑡𝑖𝑣𝑒 (𝑇𝐿)
=

54

54 + 15
=  

54

69
= 78.26%

• 

𝑅𝑒𝑐𝑎𝑙𝑙 (𝐿) =
𝑇𝑟𝑢𝑒 𝐿

𝑇𝑟𝑢𝑒 𝐿 + 𝐹𝑎𝑙𝑠𝑒 𝑁𝑒𝑔𝑎𝑡𝑖𝑣𝑒 (𝐿)
=

67

67 + 14
= 82.72%

• 

𝐹1 − 𝑠𝑐𝑜𝑟𝑒 (𝑇𝐿) =  2 ×  
0.7941 ×  0.7826

0.7941 +  0.7826
= 0.7883 𝑎𝑡𝑎𝑢 78.83%

• 

𝐹1 − 𝑠𝑐𝑜𝑟𝑒 (𝐿) = 2 ×
0.8171 × 0.8272

0.8171 + 0.8272
 0.8221 𝑎𝑡𝑎𝑢 82.21%

• 

• 

𝐹1 − 𝑠𝑐𝑜𝑟𝑒 𝑚𝑎𝑟𝑐𝑜 𝑎𝑣𝑎𝑟𝑎𝑔𝑒 =  
78.83% + 82.21%

2
= 80.52%



 

 

 


